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B AL K £ OuT IN GROSS HDCP NET
% 1 L5 HAF 37 35 12 102 | 61.8
% 2 ARER FRIE 40 37 11 115 | 655
% 3 KB Kig 44 35 79 128 | 66.2
% 4 Kl 18 41 39 80 126 | 674
%5 AKEKR BECS 40 42 82 13.8 | 68.2
6 e B— 36 38 14 5.2 68.8
%17 Rig IE[R 36 39 15 6.2 68.8
8 Xg R 34 37 71 1.6 69.4

9 Bl _EEA 45 39 84 146 | 69.4
%10 i EB 44 40 84 145 | 69.5
11 N EER 43 43 86 16.4 | 69.6
12 Bl &— 35 39 14 3.3 10.7
13 KU ==& 43 39 82 11.3 | 70.7
14 T —&F 42 44 86 15.2 | 70.8
*15 fHE #Ex 41 43 84 13.1 70.9
16 EH =R 39 46 85 140 | 71.0
17 =RHEH AR 44 43 87 16.0 | 71.0
18 Ex FlE 46 40 86 14. 11.2
19 HWT A& 44 42 86 145 | 7115
%20 FU EX 40 46 86 142 | 71.8
21 WisT Bk 41 39 80 8.0 12.0
22 =% Fa 43 45 88 15.7 | 723
23 =i STk 42 43 85 124 | 726
24 )l 8 42 43 85 122 | 72.8
%25 A& E— 44 44 88 15.2 | 72.8
26 XX = 43 45 88 144 | 73.6
217 HIR #F 44 41 85 112 | 73.8
28 g2 E= 47 44 91 16.5 | 745
29 mJIl —BR 42 46 88 133 | 74.7
%30 EH & 40 44 84 1.8 16.2
31 FE #EiE 417 46 93 16.7 | 76.3
32 MhiE BE 49 44 93 16.5 | 76.5
33 EH BX 417 45 92 154 | 76.6
34 A FEk 44 45 89 120 | 710
%35 AE BB 43 42 85 1.9 1.1
36 hf BEE 47 41 88 9.9 718.1
37 EhE = 49 42 91 128 | 78.2
38) HE E—Hf 43 48 91 122 | 78.8
39| ¥ {E—EB 46 48 94 15.2 | 78.8
%40 #ZH Rh 46 43 89 100 | 79.0
41 BHA M= 50 44 94 122 | 81.8
42 AXRHEH R 48 45 93 108 | 82.2
43 XH % 54 46 100 | 13.9 | 86.1
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* 1 itH —EBB 43 41 84 21.9 62.1
% 2 FO #Z 41 45 86 21.1 64.9
* 3 BH =& 45 43 88 22.5 65.5
* 4 EF SER 45 45 90 24.3 65.7
* 5 =K #a 46 49 95 28.4 66.6
6 SRE PR 44 45 89 22.0 67.0
%7 HEh & 417 50 97 30.0 67.0
8 MK i 43 43 86 18.4 67.6

9 #mE PR 43 45 88 20.2 67.8
%10 AR B— 48 417 95 26.9 68.1
11 TE f#2— 43 46 89 20.5 68.5
12 A FEm 45 43 88 19.0 69.0
13 RE &7 51 4 92 22.9 69.1
14 AK & 49 43 92 21.3 70.7
%15 *HLt & 51 49 100 29.2 70.8
16 WT #5 46 51 97 25.1 71.9
17 TE s 45 45 90 18.0 712.0
18 BMH I 44 417 91 18.5 12.5
19 hH HE 52 52 104 31.5 12.5
%20 I 3 417 46 93 20.4 12.6
21 0HE E{T 45 45 90 17.3 12.7
22 [ AR 53 49 102 29.3 12.7
23 £+ 8h 48 51 99 25.6 13.4
24 WA ERK 44 48 92 17.5 74.5
%25 HE AP 51 44 95 19.4 15.6
26 2R EH 48 46 94 17.5 16.5
217 it & 56 42 98 21.5 16.5
28 mE Bx 51 49 100 23.2 16.8
29 EE RE 56 417 103 26.2 76.8
%30 EH % 50 51 101 24.0 71.0
31 e B 49 48 97 19.3 11.7
32 K - 56 41 97 19.1 11.9
33 BAE HE 49 46 95 17.0 18.0
34 BIF JE— 52 50 102 24.0 18.0
*35 Xy €& 49 417 96 17.9 718.1
36 INAGR fEX 52 55 107 28.9 718.1
37 Xig K& 417 47 94 15.6 18.4
38 ME R 51 55 106 21.6 18.4
39 =% # 52 52 104 24.8 79.2
*40 FIRF 48 53 101 21.3 19.7
41 E BRA 50 49 99 17.4 81.6
42 LEE 50 51 101 19.4 81.6
43 E 3 53 52 105 23.2 81.8
44 HA R= 57 52 109 26.0 83.0
45 Y AF 56 50 106 22.1 83.9
Ed Al = - - - - -




